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8. Which of the organizational control system is heavily dependent on the individual, group, and
the use of teams? (A) market (B) traditional (C) clan (E) strategic.

9. The of the planning process contributes more to high performance than does the
of planning: (A) quality; implementation (B) implementation; quality (C) quality;
extent (D) extent; implementation.

10. According to Herzberg, removing dissatisfying factors from the workplace would result in
which of the following? (A) no dissatisfaction (B) satisfaction (C) no satisfaction (D)

motivation.

K MEm (£759)

M % (Contingency) MAAFEHNERAER LFEAHTR  H# (a) AF (b) &M
(¢) BBMEZF B RY —HPER R NAFTEALRBHBMA 5 4=
BERREE H——53 (1) BERARANE » (2) LHNH AT LT RRHN
AR MR OHMA - (20%)

~ A MAA SRR T AHKS T H =AM  Trait Theories, Behavioral Theories, Contingency
Theories, # (1) A3 NMBENE (2) LR=ZFHRE > AR (3) H—RRRE A

|

It

HA? - (20%)

= (1) #2473 "Boundaryless Organization | ? ' (10%)
Q) HMALEBERETERALATHFR (o  TE -EB -ME -ME -HHRE) ?

AHR? (10%)

WoHSMATHEMFELEHT TR RRER AR * (1) Peter Drucker (2) Michael
Porter (3) Frederick Taylor - _ (15%)






